
31,91 km      =       ........................................................................................................     cm

68 dL      =       ........................................................................................................     L

382,04 L      =       ........................................................................................................     hL

39 g      =       ........................................................................................................     kg

46,4931 dm³      =       ........................................................................................................     cL

119 dL      =       ........................................................................................................     L

186 dm³      =       ........................................................................................................     L

814,5 dm³      =       ........................................................................................................     cL

60 cm³      =       ........................................................................................................     mL

953,75 mm      =       ........................................................................................................     km

28 kilo      =       ........................................................................................................     pond

8128 mg      =       ........................................................................................................     g

9,501 m      =       ........................................................................................................     dam

23 m²      =       ........................................................................................................     mm²

11,87 L      =       ........................................................................................................     hL



31,91 km      =     3191000 cm     (komma 5 plaatsen naar rechts)

68 dL      =     6,8 L

382,04 L      =     3,8204 hL

39 g   =   0,039 kg

46,4931 dm³      =     46,4931 L      =     4649,31 cL

119 dL      =     11,9 L

186 dm³      =     186 L

814,5 dm³      =     814,5 L      =     81450 cL

60 cm³      =     0,06 dm³      =     0,06 L      =     60 mL

953,75 mm      =     0,00095375 km     (komma 6 plaatsen naar links)

28 kilo   =   56 pond

8128 mg   =   8,128 g

9,501 m      =     0,9501 dam     (komma 1 plaats naar links)

23 m²      =     23000000 mm²     (komma 2 x 3 plaatsen naar rechts)

11,87 L      =     0,1187 hL


